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Chaque	
  CP,	
  manquant	
  ou	
  en	
  trop,	
  avait	
  une	
  pénalité	
  de	
  100	
  points.	
  

Chaque	
  seconde	
  d’écart	
  avec	
  le	
  temps	
  idéal	
  en	
  E.R.V.	
  avait	
  une	
  pénalité	
  de	
  1	
  point	
  ;	
  ces	
  
pénalités	
  étaient	
  limités	
  à	
  100	
  points	
  (soit	
  1	
  min	
  et	
  40	
  s	
  d’écart	
  avec	
  le	
  temps	
  idéal).	
  

Pour	
  les	
  «	
  Confirmés	
  »,	
  les	
  temps	
  idéaux	
  des	
  E.R.V.	
  étaient	
  :	
  41’	
  36’’	
  et	
  39’	
  19’’	
  

Pour	
  les	
  «	
  Amateurs	
  »,	
  les	
  temps	
  idéaux	
  des	
  E.R.V.	
  étaient	
  :	
  37’	
  54’’	
  et	
  47’	
  11’’	
  

Les	
  quatre	
  nombres	
  situés	
  à	
  l’intérieur	
  des	
  parenthèses	
  correspondent,	
  dans	
  l’ordre,	
  aux	
  
pénalités	
  de	
  CP	
  dans	
  l’étape	
  1,	
  pénalités	
  ERV	
  1,	
  pénalités	
  de	
  CP	
  dans	
  l’étape	
  2	
  et	
  pénalités	
  
ERV	
  2.	
  Le	
  nombre	
  situé	
  à	
  l’extérieur	
  des	
  parenthèses	
  correspond	
  au	
  coefficient	
  d’ancienneté	
  
de	
  la	
  voiture.	
  

Classement	
  «	
  Confirmés	
  »	
  :	
  

1-­‐ Théry	
  –	
  Lanoy	
  (0+9+0+23)	
  x0,91	
  =	
  29,12	
  points	
  
2-­‐ Duhaut	
  JM–	
  Duhaut	
  Ph	
  (200+4+0+9)	
  x0,72	
  =	
  153,36	
  points	
  
3-­‐ Lermytte	
  –	
  Dissaux	
  (300+100+0+3)	
  x0,90	
  =	
  362,7	
  points	
  
4-­‐ Dugrain	
  –	
  Deschodt	
  (200+84+200+100)	
  x.0,96	
  =	
  560,64	
  points	
  
5-­‐ Becquet	
  –	
  Piedbois	
  (500+4+200+11)	
  x0,81	
  =	
  579,15	
  points	
  
6-­‐ Lenglaert	
  –	
  Accart	
  (300+100+200+100)	
  x0,86	
  =	
  602	
  points	
  
7-­‐ Mouchon	
  –	
  Retaux	
  (200+96+400+100)	
  x1	
  =	
  796	
  points	
  
8-­‐ Queval	
  –	
  Blanquart	
  (500+98+500+100)	
  x0,85	
  =	
  1018,3	
  points	
  

Hors	
  course	
  :	
  Spy	
  –	
  Queval	
  (400+8+	
  ?+	
  ?)	
  x0,68	
  =	
  ????	
  

Classement	
  «	
  Amateurs	
  »	
  :	
  

1-­‐ Bohler	
  M	
  –	
  Bohler	
  A	
  (0+6+0+13)	
  x0,70	
  =	
  13,30	
  points	
  
2-­‐ Mouquet	
  B	
  –	
  Mouquet	
  Q	
  (0+6+0+12)	
  x0,76	
  =	
  13,68	
  points	
  
3-­‐ Hornoy	
  –	
  Duhaut	
  AF	
  (0+0+100+1)	
  x0,85	
  =	
  85,85	
  points	
  
4-­‐ Lannoy	
  –	
  Bally	
  (100+8+0+1)	
  x0,84	
  =	
  91,56	
  points	
  
5-­‐ Allart	
  –	
  Allart	
  (100+6+0+1)	
  x1	
  =	
  107	
  points	
  
6-­‐ Delgery	
  –	
  Delgery	
  (100+7+0+29)	
  x0,83	
  =	
  112,88	
  points	
  
7-­‐ Régnier	
  –	
  Régnier	
  (100+13+0+6)	
  x1,08	
  =	
  128,52	
  points	
  
8-­‐ Schmitz	
  –	
  Nicaise	
  (0+12+100+12)	
  x1,13	
  =	
  140,12	
  points	
  
9-­‐ Wuilmart	
  –	
  Tassart	
  J	
  (0+16+100+22)	
  x1,05	
  =	
  144,9	
  points	
  
10-­‐ Lechertier	
  JM	
  –	
  Lechertier	
  V	
  (200+10+0+18)	
  x0,84	
  =	
  191,52	
  points	
  
11-­‐ Van-­‐Lancker	
  –	
  Boulet	
  (200+11+0+25)	
  x1,11	
  =	
  261,96	
  points	
  
12-­‐ Tassart	
  E	
  –	
  Tassart	
  O	
  (100+0+200+8)	
  x0,90	
  =	
  277,2	
  points	
  
13-­‐ Wayemberghe	
  –	
  Tassart	
  Ch	
  (100+4+100+100)	
  x0,93	
  =	
  282,72	
  points	
  
14-­‐ Duquenoy	
  –	
  Duquenoy	
  (100+3+200+100)	
  x1	
  =	
  403	
  points	
  
15-­‐ Bohler	
  Ch	
  –	
  Bohler	
  M	
  (0+71+300+97)	
  x0,93	
  =	
  449,28	
  points	
  
16-­‐ Lyoen	
  –	
  Brief	
  (100+30+300+35)	
  x0,98	
  =	
  455,7	
  points	
  
17-­‐ Lechertier	
  A	
  –	
  Fossier	
  (400+9+200+100)	
  x1	
  =	
  709	
  points	
  
18-­‐ Gomel	
  –	
  Pottiez	
  (400+18+500+37)	
  x1,04	
  =	
  993,2	
  points	
  
19-­‐ Clabaux	
  –	
  Jacob	
  (1400+100+300+100)	
  x0,90	
  =	
  1710	
  points	
  

Hors	
  course	
  :	
  Chevandier	
  –	
  Chevandier	
  (200+7+	
  ?+	
  ?)	
  x0,97	
  =	
  ???	
  

Duhamel	
  –	
  Duhamel	
  (700+100+	
  ?+	
  ?)	
  x0,78	
  =	
  ???	
  


